Form 603

Corporations Act 2001 Section 671B

Notice of initial substantial holder

To Company Name/Scheme	CAMPLIFY HOLDINGS LTD	
ACN/ARSN/ ABN	83 647 333 962	
1. Details of substantial holder		
Name	JPMorgan Chase & Co. and its affiliates	
ACN/ARSN (if applicable)	NA	

2. Details of voting power

The total number of votes attached to all the voting shares in the company or voting interests in the scheme that the substantial holder or an associate (2) had a relevant interest (3) in on the date the substantial holder became a substantial holder are as follows:

Class of securities (4)	Number of securities	Person's votes (5)	Voting power (6)
Ordinary	3,992,802	3,992,802	5.58%

3. Details of relevant interests

The nature of the relevant interest the substantial holder or an associate had in the following voting securities on the date the substantial holder became a substantial holder are as follows:

Holder of relevant interest	Nature of relevant interest (7)	Class and number of securities
J.P. MORGAN SECURITIES AUSTRALIA	Purchase and sales of securities in its capacity as	3,992,802
LIMITED	Principal/Proprietary	(Ordinary)

4. Details of present registered holders

The persons registered as holders of the securities referred to in paragraph 3 above are as follows:

Holder of relevant interest	Registered holder of securities	Person entitled to be registered as holder (8)	Class and number of securities
J.P. MORGAN SECURITIES AUSTRALIA	Ecapital Nominees Pty Ltd	J.P. MORGAN SECURITIES AUSTRALIA	3,992,802
LIMITED		LIMITED	(Ordinary)

5. Consideration

The consideration paid for each relevant interest referred to in paragraph 3 above, and acquired in the four months prior to the day that the substantial holder became a substantial holder is as follows:

Holder of relevant interest	Date of acquisition	Consideration (9)		Class and number of securities
See Appendix		Cash	Non-cash	

6. Associates

The reasons the persons named in paragraph 3 above are associates of the substantial holder are as follows:

Name and ACN/ARSN (if applicable)	Nature of association
J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Subsidiary of JPMorgan Chase & Co.

7. Addresses

The addresses of persons named in this form are as follows:

Name	Address
JPMorgan Chase & Co.	383 Madison Avenue, New York, New York, NY, 10179, United States
J.P. MORGAN SECURITIES AUSTRALIA LIMITED	LEVEL 18, 83-85 CASTLEREAGH STREET, SYDNEY, NSW 2000, Australia

Signature

Print name	S. Seshagiri Rao	Capacity	Compliance Officer
Sign here	S. Serhagini Rao	Date	19/December/2024

DIRECTIONS

- (1) If there are a number of substantial holders with similar or related relevant interests (eg. a corporation and its related corporations, or the manager and trustee of an equity trust), the names could be included in an annexure to the form. If the relevant interests of a group of persons are essentially similar, they may be referred to throughout the form as a specifically named group if the membership of each group, with the names and addresses of members is clearly set out in paragraph 7 of the form.
- (2) See the definition of "associate" in section 9 of the Corporations Act 2001.
- (3) See the definition of "relevant interest" in sections 608 and 671B(7) of the Corporations Act 2001.
- (4) The voting shares of a company constitute one class unless divided into separate classes.
- (5) The total number of votes attached to all the voting shares in the company or voting interests in the scheme (if any) that the person or an associate has a relevant interest in.
- (6) The person's votes divided by the total votes in the body corporate or scheme multiplied by 100.
- (7) Include details of:
 - (a) any relevant agreement or other circumstances by which the relevant interest was acquired. If subsection 671B(4) applies, a copy of any document setting out the terms of any relevant agreement, and a statement by the person giving full and accurate details of any contract, scheme or arrangement, must accompany this form, together with a written statement certifying this contract, scheme or arrangement; and
 - (b) any qualification of the power of a person to exercise, control the exercise of, or influence the exercise of, the voting powers or disposal of the securities to which the relevant interest relates (indicating clearly the particular securities to which the qualification applies).

See the definition of "relevant agreement" in section 9 of the Corporations Act 2001.

- (8) If the substantial holder is unable to determine the identity of the person (eg. if the relevant interest arises because of an option) write "unknown".
- (9) Details of the consideration must include any and all benefits, money and other, that any person from whom a relevant interest was acquired has, or may, become entitled to receive in relation to that acquisition. Details must be included even if the benefit is conditional on the happening or not of a contingency. Details must be included of any benefit paid on behalf of the substantial holder or its associate in relation to the acquisitions, even if they are not paid directly to the person from whom the relevant interest was acquired.

TRADES FOR RELEVANT PERIOD						Appendix
Transaction Date Balance at start of relevant period	Entity	Product Type	Type of Transaction	Quantity 1,202,944	Price (AUD)	Consideration
19-Aug-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell Sell	(1,419) (994)	1.30 S 1.25 S	
20-Aug-24 21-Aug-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell	(531)	1.27	674.37
22-Aug-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	147	1.29	
22-Aug-24 26-Aug-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Sell	(147) (450,000)	1.32 S 1.29 S	
29-Aug-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	1,981	1.22	2,416.82
30-Aug-24 03-Sep-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	6,635 (1,200)	1.28 S	8,492.80 1,500.00
04-Sep-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	2,398	1.23	2,949.54
05-Sep-24 09-Sep-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	45 (9,589)	1.29 S	
10-Sep-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(270)	1.19	321.30
10-Sep-24 12-Sep-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buy	(7,204) 100	1.18 5	
13-Sep-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(100)	1.26	125.92
16-Sep-24 17-Sep-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy Sell	3,157	1.36	
18-Sep-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell	(503) (2,654)	1.37 S 1.36 S	
18-Sep-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(39,726)	1.37	54,225.99
20-Sep-24 23-Sep-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Buy	320 205	1.28 5	408.00 249.08
25-Sep-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	201	1.21	242.21
26-Sep-24 27-Sep-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Buy	396 454	1.19 5	
27-Sep-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(1,576)	1.18	1,860.91
30-Sep-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(3,884)	1.26 5	
30-Sep-24 30-Sep-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Buy	500,000 500,000	1.06	
30-Sep-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	100,009	1.06	106,168.55
30-Sep-24 02-Oct-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	1,062,040 (1,474)	1.06 S	1,127,451.04 1,774.27
03-Oct-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(1,022)	1.20	1,226.40
04-Oct-24 10-Oct-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Sell	(702) (33,529)	1.22 S 1.20 S	857.50 40,254.65
10-Oct-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	18,731	1.20	22,484.00
11-Oct-24 11-Oct-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell Buy	(24,353) 2,687	1.19	
11-Oct-24 14-Oct-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell	(5,215)	1.17	
14-Oct-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(1,993)	1.17	
15-Oct-24 15-Oct-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Sell	(7,718) (16,203)	1.09 S	
16-Oct-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(2,680)	1.09	2,915.75
17-Oct-24 18-Oct-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buy	(2,678)	1.10 5	
21-Oct-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(9,528)	1.05	9,966.35
21-Oct-24 23-Oct-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buy	(33) 1,791	1.06 5	34.98 1,796.71
28-Oct-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(43,385)	0.99	42,831.97
28-Oct-24 30-Oct-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Sell	(1,791) (660,000)	1.01 S	
31-Oct-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	3,005	0.94	
01-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy Sell	588 (50,000)	0.94	
04-Nov-24 05-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell	(1,334)	0.92 \$ 0.96 \$	
05-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(811)	0.95	773.46
06-Nov-24 07-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buy	(2,259) 7,717	0.95 S	2,146.05 7,815.74
08-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(90,000)	0.96	86,673.33
08-Nov-24 12-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Sell	5,632 (1,684)	1.03 S	5,800.96 1,700.84
12-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	1,527	0.99	1,504.10
13-Nov-24 14-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Sell	(3,000)	0.97 S 0.98 S	
14-Nov-24 14-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	500,000	0.99	
15-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	2,504	0.97	
19-Nov-24 20-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Sell	(2,330) (10,340)	0.93 S 0.91 S	
21-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(544)	0.94	511.36
21-Nov-24 22-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Buy	1,698 410	0.90 S 0.91 S	
25-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(1,564)	0.88	1,370.53
25-Nov-24 26-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Sell	(11,967) (2,046)	0.85 S 0.81 S	10,200.32 1,658.94
26-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(29,500)	0.82	24,137.14
26-Nov-24 27-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Buy	2,046 14,564	0.83 S 0.85 S	
27-Nov-24 27-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(10,000)	0.87	8,704.96
28-Nov-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(1,191)	0.85	1,012.35
29-Nov-24 02-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Sell	(5,396) (5,981)	0.86 S 0.84 S	
03-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	9,712	0.86	8,333.60
03-Dec-24 04-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buy	(23,500) 395	0.88	
05-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	49	0.89	43.61
09-Dec-24 09-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Sell	(79,047) (208)	0.83 S 0.84 S	
10-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(3,131)	0.79	2,479.36
11-Dec-24 11-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy Sell	45 (7,102)	0.80	35.78
12-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell	(25,000)	0.80	
12-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(8,858)	0.78	6,896.32
16-Dec-24 16-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Sell Buy	(11,000) 411	0.75 S 0.74 S	
16-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Sell	(250,000)	0.75	187,500.00
16-Dec-24 16-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity Equity	Buy Buy	1,000,000 1,000,000	0.72 S 0.72 S	720,000.00 720,000.00
17-Dec-24	J.P. MORGAN SECURITIES AUSTRALIA LIMITED	Equity	Buy	8,145	0.76	
Balance at End of relevant period				3,992,802		